Example 1 - Foreign asset held by Australian trust that is taxed as a corporate in the foreign
country

30 June 2020 year
e $100,000 income
e 580,000 deductibleexpenses
e 54,000 foreign tax paid (@20%)
Tax = accounting
e 520,000 (or100%) of net income distributed to an Australian individual

The trustis a liable entityin atleast one of the deducting countries and can therefore be adeducting
hybrid pursuant to 832-550(c)(i).

Thereisa deduction/deduction mismatch of $80,000.

The amounts subject to Australianincome tax forthe purpose of calculating dual inclusionincome
and the neutralisingamountis, where the trust has netincome for the year, the amount that
reasonably represents amountsincludedinthe assessable income of another entity (otherthan
anothertrust or partnership) —s 832-125(2)(c).

In determiningthis, the effect of Division 832 is disregarded —s 832-125(4).

Therefore, only $20,000 isincludedin the assessable income of another entity as only the net
amountflows through undersection 97.

Ignoring the effect of FITOs, only $20,000 of dual inclusionincome is available to be applied which
reduces the neutralisingamount to $60,000. This resultsinthe $60,000 of deductions deniedtothe
trust with the individual assessable on $80,000 of netincome. This may be even greateronce the
FITO adjustmentis made (discussed in further example below).

This apparently inadvertent outcome comes about due to the issue of netvs gross amounts. A
similarissue appearstobe recognisedinthe s 832-110(5). This deems grossamountsto be one net
amountto reduce the size of a deduction forthe purpose of a deduction/deduction mismatch.
Thereisno equivalentfordual inclusionincome (i.e. norule that deems the netamountofincome
that flows through an entity to consist of the gross item-by-item amounts that make up the net
amount).

An alternate view may be that the $100,000 included inthe assessable income of the trust
reasonably represents the $20,000 amountincludedin the assessable income of the individual. Such

aview would preventsuch aninadvertent outcome.

Example 2 — Same as example 1, but there is an interposed LLC between the trust and the foreign
asset

e Assumethe LLCisa disregarded entity in both countries (e.g. aforeign hybrid company
under Division 830)

The entity that is claiming the deductionsis now a partnership fortax purposes (i.e. the LLC). Asitis
not a liable entity in either countryitcannot be a deducting hybrid.
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The Australian trust may be a deducting hybrid but will be assessed on the $20,000 profitthat flows
through fromthe LLC. Thereis norelevantdeduction available to the trustand therefore no
deduction/deduction mismatch. The trust will be assessed in the foreign country and pay tax onthe
$20,000 profit. The individual will be assessed on the $20,000 netincome in Australia and be entitled
to a FITO that flows through the trust.

A vastly different, butintuitively correct, outcome appears to occur where an entity thatis
transparentin both countriesincurs the expenses and derives the income.

Example 3 — Same as example 1, but the trust has $20,000 of prior year tax losses available

e Thetrust deductsthe prioryear taxlossand has no netincome forthe year

$100,000 will be considered subject to Australianincome tax as the trust isan entity andincluded
the amountin its assessable incomeforthe income year. Subsection 832-125(2) does not apply as
the trust does not have net income forthe year.

Therefore, the neutralisingamount will be reduced to nil.

If the trust only had $19,999 of prioryear losses (orother currentyear deductions) so thatits net
income was $1, you have the same issue arise. Only S1 may be considered subjectto Australian
income tax resultingin $79,999 of deductions being denied forthe same reasons as example 1.

There appearsto be an inappropriate outcome where the difference between $1of netincome and
no netincome can cause potentially millions of dollars of deductions being denied (albeit not
necessarily permanently).

Example 4 — Example 1 with some modifications, beneficiaries with losses

30 June 2020 year
e $100,000 income
e 520,000 deductibleexpenses
e $16,000 foreigntax paid (@20%)
e Tax =accounting
e 580,000 (or100%) of netincome
e Thetrustis aunittrust withthe units heldinthe followingalternative scenarios:
o A-AnAustraliancompany that has losses (otherwise a 30% taxpayer)
o B-An Australian partnership that haslosses
o C-AnAustraliandiscretionary trustthat has losses

The unittrust is a deducting hybrid (taxed as a corporate overseas) and there is a $20,000
deduction/deduction mismatch.

In scenario A, there is $80,000 that would be assessable to the corporate beneficiary undersection
97 so that s 832-125(2)(c) is satisfied. Thisisregardless of the losses availablein the company. The
FITO adjustmentin s 832-680(2)(d), based on the methodology inthe EM, reduces thisamountto
$26,667 ([$80,000 x (1 - $16,000/524,000)]. The neutralisingamountisthereforereduced to nil and
none of the deductions are denied to the unit trust.

In scenario B, the $80,000 would be included in the partnership’s assessable income undersection
97. However, due tothe effect of the otherdeductions available to the partnership, no partneris
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assessed on any amount of partnership netincome. Instead, the partners willreceive adeduction
for theirindividual interestinthe netloss of the partnership undersection 92. Therefore, no
amounthas beenincludedinthe assessableincome of an entity otherthan a trust or partnership so
that no amountwill be considered to be subjectto Australianincome tax. The unittrustwill be
denied $20,000 of deductions.

In scenario C, the $80,000 would be includedin the discretionary trust’s assessable income under
section 97. However, due tothe effect of the otherdeductions available to the discretionary trust,
thereisno netincome for any beneficiary (ortrustee) to be assessed on. Therefore, noamount has
beenincludedinthe assessableincome of an entity otherthan a trust or partnership sothatno
amount will be considered to be subject to Australianincometax. The unittrustwill be denied
$20,000 of deductions.

There appears to be anomalous outcomes whereby distributions to some loss entities (companies,
individuals, superfunds—assumingthey are not considered trusts for these purposes) are
consideredto be subjectto Australianincome tax but distributions to otherloss entities (trusts and
partnerships) are not.

Scenario C also highlights aseparate issue inwhetheratrustis a liable entity in Australiawhich may
be relevantforotheraspects of Division 832. The trust may have chosento accumulate the income
due to havingtrustincome available for distribution that year despite the tax loss. While the trustee
isnot assessed and liable to pay tax that year, the trust may nevertheless be considered to be liable
inrespect of itsincome or profits forthe income yearas thisis to be determined on the basis that
income or profits would exist as pers 832-325(4).

Example 5 — Individual is a deducting hybrid

30 June 2020 year
e 530,000 income froma foreign rental property (12x $2,500 monthly rental payments)
e 520,000 deductibleexpensesin relationtothe property
e 52,000 foreign tax paid (@20%)
e Theindividual has $15,000 of othertaxable income

Thereisa $20,000 deduction/deduction mismatch.

The dual inclusionincomeis calculating starting with the $30,000 that would be assessable to the
individual. Based onthe EM formulaand s 832-680(2)(c)-(d) this would be:

$30,000 x (1- $2,000/(ATG))

ATG represents the Australian tax on the gross $30,000 assessable amountorusingthe words of the
legislation “the amount of *tax that would, having regard only to the assessable amountand the
rate at whichtaxis imposed onthe entity, be payable onthe assessable amount”

Itisunclearifthe rate of taximposed on an entity beinganindividual is amarginal rate or an
average rate. Further,itisunclearwhetherthe requirementto have regard only to the assessable
amountis alsoa requirementin determining the rate at which tax is imposed onthe individual. If so
this meansthat the othertaxable income of the individual is disregarded. Additionally, given that
individualamounts need to be considered on an item-by-item basis as either being dual inclusion
income or not, this can change the analysis again. This could lead to many differentinterpretations:
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A —The individual would have $25,000 of taxable income disregarding the effects of Division 832.
Tax is considered to be imposed at a rate of 19% beingthe marginal rate. ATG = $5,700 (i.e. $30,000
x 19%). Dual inclusionincome =$19,474 (i.e. $30,000 x $3,700/$5,700). Deductions of $526 are
denied.

B — The individual would pay $1,292 of tax on $25,000 of taxable income disregarding the effects of
Division 832 (56,800 x 19%). Tax is considered to be imposed atarate of 5.168% beingan effective
rate. Tax payable on $30,000 at this rate is $1,550.40 whichislessthan the amount of the foreign
tax offset. Thereisnodualinclusionincome. Deductions of $20,000 are denied.

C - Regardis only had to the assessable amountsin determiningthe rate of tax. $2,242 of tax s
imposed on $30,000 at marginal rates representing atax rate of 7.47%. ATG = $2,242. Dual
inclusionincome =5$3,238 (i.e. $30,000 x $242/52,242). Deductions of $16,762 are denied.

D — Regardis only had to each assessable amounton an item-by-item basisin determining the rate
of tax. No taxis imposed on any of the individual $2,500 items of income due to the tax-free
threshold of $18,200. Thereisno dualinclusionincome. Deductions of $20,000 are denied.

This does not considerthe effect of the Medicare Levy (orsurcharge) asthey are not *tax as defined
inthe Act (eventhough FITOs can be applied againstthe Levy). Further, thesedo notconsiderthe
effect of the LITO/LMITO which effectively change the effective rate of tax thatapplies but by way of
offset.

We believe that no matterwhichinterpretationistaken, the “right” resultis notachieved for
individuals.

By way of contrast, considerthe situation where a SMSF taxed at 15% is the taxpayer with the exact
same set of facts. ATG would simply be $4,500 (i.e. $30,000 x 15%). Dualinclusionincome would be
$16,667 ($30,000 x $2,500/54,500). The SMSF would be denied $3,333 of deductions. Itstaxable
income becomes $28,333 consisting of $13,333 fromthe foreign rental property and $15,000 of
othertaxable income. Itwould be liable to pay tax of $4,250 and receive a FITO of $2,000 resulting
ina nettax liability of $2,250.

Importantly, itdoes not matter whetherthe $15,000 of othertaxable income is Australian orforeign
sourced. Asthe $2,000 FITO exactly absorbs the tax payable onthe $13,333 (at 15%) inrelation to
the foreign rental property so that the offsets cannot be used to shelter otherforeignincome. If the
deductions were not disallowed (so that only $10,000 was assessable on the netrent) and the other
$15,000 were foreign sourced, the FITO limit for the SMSF would exceed $2,000 so that the offsets
would be used against otherforeignincome. This methodology inthe Actappearsto have the effect
of quarantiningthe FITOs so that they only apply to reduce tax payable on amounts of dual inclusion
income.

The mathematical relationship does not hold up once marginal rates of tax apply. There may be a
“right” amount of deductionsto deny. This could be worked out by reverse engineering an outcome
whichresultsinthe FITO from the dual inclusion income exactly equallingthe FITO limit to prevent
sheltering of otherforeignincome, butthere does notappearto be a way to get there based on the
words of the legislation. The effect of certain offsets and levies forindividuals complicates this
further.

We believe the application of the dual inclusionincomerules where individuals are involved is an
area of considerably uncertainty that warrants publicguidance by the ATO.
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Example 6 — Widely held trust

Assume awidely held unittrust hasinvestmentsinforeign assets and has 1,000 unitholders
consisting of a mix of individuals, companies taxed at 30%, companies taxed at 27.5%, unittrusts,
partnerships, family trusts, superannuation fundsin accumulation phase, superannuation fundsin
pension phase and tax-exempt charities.

The unittrustis a liable entity inthe foreign country. It makes anet profitand pays foreign tax. It
has netincome in Australia.

There are various deductions claimed in Australiaand the foreign country.

In determining what dual inclusionincomeis available to be applied to reduce the neutralising
amount of the deducting hybrid mismatch, the trust would have to know the tax profile of every
investorand trace through every entity to the ultimate recipient takinginto accountall the issues
raisedinthe examples above. This may have to be done before many of the unitholdersand the
ultimate beneficiaries/partners of the unitholders lodge theirtax returns forthe year.

We have several managed fundsinourclient base and do not know practically how itis possible to

determine dual inclusion otherthan making severalassumptions based on the entity profile of the
unitholders. We would welcome publicguidance forthe managed fund industry.
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